13391963012

001970392818 S I C K

LMS100

1041113
1044321
1051301
LMS111

1041114
1046577
1047607

SICK

LMS100-10000
LMS123-10000
LMC123-11000

LMS111-10100
LMP100-01
LMS151-10100

LMS1XX




13391963012

001970392818 S I C K

ARIRITE N4 LMSIXX 5 PC A H4 T7 iR A F 1)l TR 4

(RS32/Ethernet).

—. LMS1IXX f@friesk

1. LMS100 ffa:4k

LMS100 5. I A 10 i 15 s

Terminal Signal Function
1 Reserved Do not use
2 Reserved Do not use
3 RxD R5-232 Serial R5-232 host interface (receiver)
4 Reserved Do not use
5 Reserved Do not use
B N1 Digital input 1
Fi N1 GHD Ground digital input 1
8 N2 Digital input 2
9 N2 GND Ground digital input 2
10 AL INCA_O Encoder input 1
11 A1 INCA_90 Encoder input 2
12 GMNDINC_A Ground digital inputs
13 OuUT1_A Digital output 1
14 QUT1_B {or _GND) Digital output 1
i5 OUT1 R Resiztance monitor output 1
1 OuTZ2_A Digital output 2
i7 CUTZ2_B (or _GND) Digital output 2
is GMND Ground LMS
19 Vg 108V .. 30V LMS supply voltages
0 TxD RS-232 Serial R5-232 host interface (sender)
21 Reserved Do not use
22 GMD R5-232/GND CAN Ground senal host interface or CAN
23 CAM_H CAN-BUS High
24 CAM_L CAN-BUS Low
25 CAN Vs 24V CAN supply voltage
26 GND R5-232/GND CAN Ground serial host interface or CAN
27 CAM_H CAN-BUS Low
28 CAM_L CAN-BUS High
29 CAM Vs 24V CAN supply voltage
30 OUT3 R Resiztance monitor digital output 2
31 QUT3_B (or _GND} Digital output 3
32 QUT3_A Digital output 3
33 QuUTZ_R Resistance monitor digital output 2
34 Case Housing

Tab. 12: Terminal assignment of the LMS100




13391963012

001970392818

LMS100 PAA MY 42k -

“Ethernet” connection M12 x4, socket

Pin Signal Function

1 Ethernet_TX+ Ethemet interface
2 Ethernet_RX+ Ethemet interface
3 Ethernet_TX- Ethemet interface
4 Ethernet_RX- Ethemet interface

Tab. 13: Pin assignment of the “Ethernet” connection on the LMS100

2.  LMS111 fEfgEs
LMS111 sk e Y.

“Power” connection M12 =5 plug

Pin Signal Function
1 W LMS supply voltage
1 2 Wy heat. Supply voltage for the heating
3 GMND Ground
4 - Mot assigned
5 GMND heat. Ground heating

N

LMS111RS232 #:3k 5 X:

“RS-2327 connection M12=8_plug

Pin Signal Function
3 8 1 RxD Serial R5-232 host interface (receiver)
2 T=D Serial RS-232 host interface (sender)
3 =% ! 3 CAN_H CAN-BUS High
Sd ° 4 CAN_L CAN-BUS Low
4 oo 7 5 GMD CAN Ground CAN
_ B M1 Digital input 1
2 8 7 N2 Digital input 2
8 M GMND Ground digital inputs

LMS1111/0 #z:3k5E X

“I/0" connection M12 =8, socket

Pin Signal Function
A1 _INCA_D Encoder input 1
1 8 2 21_INCA_90 Encoder input 2
7 2 3 GMDIMNC_& Ground encoder inputs
o 2Fh 4 oUTL_A Digital output 1
s W o/ = 5 oUT2_ A Digital output 2
[ QUT3_A Digital output 3
5 4 T CUT=_B Second connection of the digital cutputs 110 3
8 OUT<_R Resistance monitored connection of the digital
autputs 1to 3




13391963012 Q01970392818 SI

LMS111 PR M Ezk e s

“Ethernet” connection M12 x4, sochket

Pin Signal Function

1 Ethernst_TX+ Ethernset interface
2 Ethernet_RX+ Ethernet interface
3 Ethernst_TX- Ethernset interface
4 Ethernst_RX- Ethernset interface

LMS111RS232 #fi I 43k & X

“Auxiliary interface” connection M8= 4, socket

Pin Signal Function

1 - Mot assigned

2 RxD Serial RS-232 auxiliary interface
3 ovDeC Ground

4 T=D Serial RS-232 auxiliary interface




13391963012 Q01970392818 S I c K

3.  LMS1XX HZIEK

D oy

A A LR B A SR S m A Y, R 0. 25mm2 gl
AR SRS L B A Sk Aok 20m,  E BCR ] 1.0mm2 L 4

Wire cross-section Cable length
0.25 mm- (0.01in" approx. 24 AWG) |[5m (164 f)
0.5 mm~ (0.02 in® approx. 22 AWG) 10m (32.81ft)
1.0 mm= {0.04 in® approx. 18 AWG) 20 m (B5.62 ft)

2)  FFREE L

A LS /N 42 422.0.25mm2, FEL R K B A 50mit], 5 2

0.5mm2Z 2 45 .

3) RS232/CANH i HL 25

SR AE 10 /N 2k 420, 25mm2, 18 BURHH R 0N 2k, v i e g

ANEL TSI TE L

Interface type Transmission rate Maximum cable length
RS-232 115,200 Bd 10mi32.81f)
CAN bus?) 1 MBit/s A0 m (131.23 i)

—. LMSIXX ¥ HIESNE

RS232. UKXMIELNH (BELIHLIFSHEMKRIELTM)



13391963012 Q01970392818 s I C K

1. HHES:
B R EHCHR -
16 il 02 73 52 4E 20 4C 4D 44 73 63 61 6E 64 61 74 61 03
ASCII: STX sRN LMDscandata ETX
S
16 . 02 73 45 4E 20 4C 4D 44 73 63 61 6E 64 61 74 61 20 31 03
ASCII: STX sEN LMDscandata 1 ETX
TS
16 . 02 73 45 4E 20 4C 4D 44 73 63 61 6E 64 61 74 61 20 30 03
ASCII: STX sEN LMDscandata O ETX

2. MEHEKNX:

B

SRA LMDscandata 1(iliA ) 1(#% #%5) 89A271(J741)'5) 0 O( &R AS) C44(Fq 4
114k) SCAFH v 4) ELCED(JT 4 i) [A]) E2775(K 1% I H]) 0 O v =4 N) 7
O(Kk 7 By ) O({R ) 9CA(2500HZ) 168(HE X FIHHAIAR) OB AT St #%) 1(% il
1% 1) DIST (% P 2%) 3F800000( % %k) 00000000(Z Kl &) FFF92230(JT 44 i
J&£) 9CA(S K73 #3) ABA(FH i) 44F(5H — 414 55:1103mm) 445 451 440
451 450 44F 459 45B 474 45B 47B 46E 470 483 49B 481 48C 4A3 49D 4B3 4B7
4B1 AC7 4C1 AC2 4D4 4DD 4E4 4EB 4FA 511 505 504 50E 522 529 544 537 53C
54F 55A 564 56C 586 587 583 5A1 5B2 5A4 5AD 5C9 5CE 5ED 5FB 5F6 5FF 609
604 620 62C 633 62A 64F 664 66E 680 679 69D 6AC 6AD 6C3 6DE 6E2 6FD 6FE
714 719 728 73C 753 765 761 753 74B 753 751 761 763 759 75B 742 73F 74E 74E
745 742 T4E 740 729 728 737 724 724 732 738 728 716 70B 72E 70F 717 713 715
714 715 709 710 705 6FF 6F8 702 6F3 6FB 6F3 6EB 6F1 6E8 6E6 6E7 6F5 6E1
6DD 6DE 6E7 6E0 6D9 6DE 6D3 6E7 6DB 6D0 6E6 6D4 6E0 6CC 6C7 6D9 6DA
6D1 6C5 6D3 6CB 6C9 6CE 6CF 6CE 6C3 6BA 6CD 6C9 6C7 6C4 6C2 6CB 6CF
6B9 6C0 6CC 6BB 6CB 6CF 6C8 6BC 6B8 6C1 6C4 6C1 6C1 6C0 6CD 6C5 6C0O
6BB 6CB 6C8 6BB 6CC 6B4 6CF 6C1 6CA 6C3 6CA 6B6 6C0 6CC 6C3 6D2 6BB
6CB 6C5 6D3 6BD 6CE 6CC 6C1 6C4 6CD 6E0 6BE 6C9 6CF 6D8 6CD 6D4 6C1
6CB 6CC 6CD 6C8 6D8 6C6 6D0 6CC 6DB 6D2 6D7 6E0 6E2 6E1 6E0 6ED 6DC
6E4 6E8 6E3 6F4 6E1 6F4 6E6 6E9 6F4 705 6F6 6F9 6F0 6FA 6F1 6FD 710 70A
702 71C 709 71F 70A 725 716 718 71B 727 72D 728 720 72D 72E 72E 742 73F 74C
749 742 73D 74C 751 759 75B 75F 764 765 756 75B 76F 76C 777 771 77C 785 77F
786 79A 793 797 79F 7A7 7B0 7AC 7A5 7B9 7C1 7C5 7C6 7D5 7D5 7DB 7C6
7DD 7E1 7E9 7E5 802 805 80A 7F5 81A 821 81B 82D 830 834 837 82B 828 837
84A 84B 861 869 866 871 87E 888 89D 89C S8AE 8AF 8BB 8BD 8C6 8C6 8D4 8EA
8E9 8E4 8FD 904 904 916 91D 930 931 93A 94D 942 956 94E 966 978 980 988 992
993 99D 9AB 9C2 9D1 9DC 9E3 9F2 9F7 A04 A07 A1A A12 A13 AO1 AO7 9EE
9EE 9C8 9D5 9C9 9C0 9B1 9AE 9A5 99D 989 992 981 985 974 975 96D 967 95E
947 93F 944 939 93C 929 92C 918 915 907 908 905 8F8 8EF 8F2 8EB 8ED 8DC



13391963012 Q01970392818 s I C K

8D1 8BF 8D0 8C1 8CE 8C7 8CC 8DE 8F7 914 923 907 8FC 8E3 8C1 8B4 8C3 8C7
8D0 8CO 8AB S8AE 8A9 89F 89D 89C 8A3 8A0 89F 89E 891 88E 897 88D 892 867
84D 865 875 875 87C 873 875 860 84D 855 852 84A 83F 834 833 80D 7E2 7DB
7ES 7D8 7DB 7D4 7DA 7CE 7DE 7D8 7D0 7CE 7CC 7CC 7C3 7BB 7C9 7BD 7B7
7B2 7TAF 7BB 7BD 7B4 7B8 7B7 7B5 79E 7A8 7A0 7A1 7A4 79D 7A8 795 792 799
78C 791 79E 78D 79E 794 796 794 788 79A 78D 788 784 781 77E 77E 780 779 784
78C 780 78A 774 78A 782 77C 780 783 77F 782 77B 76F 77F 77B 77E 782 785
78A 77B 779 76E 781 77A 77A 777 778 76D 772 77C 771 794 79C 7A3 7A3 7TAB
7B4 7C5 7DE 7D6 7E9 7EA 7E9 7F0 7TEA 7EC 7E7 7B6 7C7 7TDA 7EC 7EA 7DD
7EQ 7ED 7F4 7TE2 7F5 7F5 7F7 7TEF 7F1 7EC 7EQ 7EE 7E7 7CF 7EC 7F4 7TF3 7F9
7EQ 7EB 7F6 7FE 7FF 7F4 804 7FB 7F9 807 803 810 7EE 7D4 7CE 7C5 7CB 7CB
7D4 7TE2 7DF 7F3 7TE3 7ED 7E2 803 834 815 813 81F 81D 811 81A 81D 81B 82B
833 82F 828 837 842 842 83A 844 855 84D 854 858 855 86F 878 86D 87B 880 879
877 874 87C 886 881 895 89E 887 898 8A8 8A8 899 BAE 8B3 8B5 8AD 8BA 8C8
8BE 8D9 8D0 8DE 8E2 8E5 8E6 8EF 902 905 90E 90B 917 913 929 92C 939 93B
946 94E 952 953 960 969 978 972 989 987 98B 991 99A 9AA 9B7 9B9 9D1 9D1
9D5 9EB 9F2 9FD AOF AO07 A17 A23 A3C A34 A49 A52 ASD A65 ATE ATE A8F
AAOA91 AAD AC5AC1 AD5 ACB AE5 AE7 AF2 BO7 BOF B27 B34 B52 B41
B68 B6F B8B B8B BOD BAD BC7 BD6 BDB BF8 BFA C1A C2E C45 C4D 27C
28A 286 282 27A 26A 258 266 26A 26E 265 25A 255 256 254 24C 251 253 24A
245 24B 24B 240 23C 239 237 237 239 237 23C 234 22F 230 224 22C 227 224 22F
221 21B 21D 20F 20B 215 223 217 216 212 21F 21F 20E 21D 217 218 209 1FF 21A
20F 1F8 217 206 1FD 205 212 215 214 1F9 203 202 1FC 203 201 20D 200 205 200
1E3 1FD 1FB 1F3 204 1F9 1D9 1F7 1F9 1ED 1DB 1F2 1F9 1F2 1DC 1F5 1ED 1EB
1E9 1EC 1E8 1EA 1D4 1D2 1EF 1E0 1D2 1E8 1F2 1F2 1D0 1D8 1DA 1B3 198 17D
188 179 15D 177 178 189 190 185 199 1A0 198 1A9 1A6 1B5 1B2 19E 1A5 1A2
19C 1A9 1A7 1A4 1AB 19E 199 18A 171 150 154 13D 135 140 146 146 154 15C
15E 158 160 14A 13B 12A 119 11B 124 127 129 131 132 129 12F 11C 129 127 132
12C 12B 120 128 117 126 11D 130 117 129 122 12B 110 10E 102 118 11B 122 12B
127 10E 119 108 109 11F 10E 10F 119 107 110 10B 110 114 105 FC 107 FD F3 E9
E7TEFECD4DCC3CB C1BFBD C5B3B79A 9B A99C 92 8D 9297 9B 7F 90
897F 738577 TA 6877657776 7F 7B 6F 6269 7B 72 6C 64 6F 67 51 51 4F 57
5C 4856 4D 4D 3C 43 45 44 44 46 4C 56 39 48 41 4B 43 52 50 3E 60 73 66 88 88
9F AA B2 B3 CD EG6 105 10D 12D 145 196 1A1 1C1 1B1 1E3 1E3 1E4 1DE 1E7
1EB 1F0 1E4 1F1 1F7 1FE 206 1F5 1FA 206 1F9 200 203 20A 21C 210 20C 20D
205 21D 219 21A 222 217 22E 229 225 237 22D 22D 000000




13391963012

001970392818 s I C K

3. ZHRE:

L wEAMMAE
sMN SetAccessMode 03 F4724744

Telegramm to LMS 100 (PC-=LMS) :

<STX>sMN{SPC}SetAccessMode{SPC}03{SPCIF4724744<ETX>

Hex String to LMS5 (PC-» LMS):
22 73 4D 4E 20 53 85 74 41 &3 B2 85 73 73
34 34 03

Answer of LMS 100 (LMS = PC):
<STIH-sAN[SPClSetAccessMode[SPCH -ETH-

Hex String to Pc (LMS > PC):

02 73 41 4E 20 53 65 74 41 &3 63 65 73 73

B WM, tbinik g 0-225°

40 eF

4D eF

(=]}

£ 83 20

(=1}
.

4 85 20 3

02 734D 4E 20 6D 4C 4D 50 73 65 74 73 63 61 6E 63 66 67 20 2B 35 30 30 30 20 2B 31 20 2B
35303030202D 303030303030202B 3232 353030303003

BIGAE 0
Jo

P
5@:5}::

BsH i 4. 02 73 4D 4E 20 6D 45 45 77 72 69 74 65 61 6C 6C 03

wteiE, AW LEES,

&k
225 J&.




13391963012 Q01970392818 s I C K

2) WE AR BT R

WESHOA 0. 25 BEA RS PR+ 25HZ IR

B

EyNBRL: 02 73 4D 4E 20 53 65 74 41 63 63 65 73 73 4D 6F 64 65 20 30 33
20 46 34 37 32 34 37 34 34 03

RIS sAN SetAccessMode 1

a7

WESHOA 0. 25 BEA RS PR+ 25HZ AR :

02 73 4D 4E 20 6D 4C 4D 50 73 65 74 73 63 61 6E 63 66 67 20 2B 32 35 30
30 20 2B 31 20 2B 32 35 30 30 20 2D 34 35 30 30 30 30 20 2B 32 32 35 30
30 30 30 03

IRA A sAN mLMPsetscancfg 0 9C4 1 9C4 FFF92230 225510

B=0.

B sH i 4. 02 73 4D 4E 20 6D 45 45 77 72 69 74 65 61 6C 6C 03
ik E, AHELHES,

4) il 10 #r

Request
Message structure: sMN mDOSetOutput Status output
Message part Description Variable type Lengith | Value range
(byte)
Type of command Request (S0PAS method by name) string 3 sMN
Command Set output string 12 mDOSetOutput
Output Output number uint_8 1 0 output 1
i output 2
2 output 3
Status State of the cutput uint_g 1 4] inactive
1 active
Message syntax XX Request "Set LMS ocutput”
Answer
Message structure: sAN mDOSetOutput ErrorCode
Message part Description Variable type Length [ Value range
(byte)
Type of command Answer (SOPAS answer) string 3 sAN
Command Set output string 12 mDOSetOutput
ErrorCode The command has been accepted bool_1 1 4] error
if the error code 1 is returned. 1 no error




13391963012

001970392818 s I C K

Telegram structure: sMN mLMPsetscancfg Frequency and Resolution

PC-> LMS
Telegram Description Variable Length Values
(Bytes)
Command Type Sopas by name string 3 sMN
Command Canfig of scan frequency string 14 mLMFsetscancig
and angular resolution
Scan Frequency values in 1/100 Hz unit 32 4 2500  for 25Hz
only 2500 or 5000
5000 for 50 Hz
Value reserved 1 1
angular resclution | values in 1/100 Hz unit 32 4 2500 for 25Hz
only 2500 or 5000
5000 for 50 H=z
Start angle output in 1/10.000 * int32 4 —450000 +2250000
stop angle output in 1/10.000 * int32 4 —450000 +2250000

I Start and Stop angle are fix — 45° to 225" changes will have no effect!!

Telegram structure: sMN mLMPs=stscancfg Frequency and Resolution

LMS -> PC
Telegram Description Variable Length Values
(Bytes)
Command Type Sopas by name string 3 sAN
Command Info of scan frequency and | string 14 mLMFaetscancig
angular resolution
Status Code accepted when value 1s 0 EnumB 1 0 no Error
1 Frequency Error
2 Resolution Error
3 Res. and Scn.
Errar
4 Scanarea Error
5 other Errors
Scan Frequency values in 1/100 Hz unit 32 4 9Cdh  for 25Hz
only 2500 or 5000
1388h  for 50 Hz
Value reserved 1 1
angular resolution | values in 1/100 Hz unit 32 4 9C4h  for 25Hz
only 2500 or 5000
1388h  for 50 Hz
Start angle output in 1/10.000 * int32 4 FFF92230h 225510h
{(—450000  +2250000)
stop angle output in 1/10.000 * int32 4 FFF92230h 225510h

(—450000 =2250000)




13391963012

001970392818 S I C K

LMS100 it

G il

LMS1002SICKHE H K —HE &8,
ZFB, FERATFEAXEE.

MERZHHHALFAEEIL. LMS
100 AR EMPABEELE—HF, R
AR —EITEE, I
EmXRaN, BEMATEFHS X
BN AR(FRER), EBLMS
10080 fE B LR E Tt o] A FH N
E. LMS100MEEH S48 K
EEE(270° WRAKAE), REW
KEEEFIURBIBEE, &
EMERORIARE, BATURE
MFNEE, RER & BB IRP

X)), KRIFEBE(RIZ20XK B &
FXE), WHBEEERIIEE, &
WRE, HRRHZYERHRSE
e, BERBRE/ERUER
VS ENEBNRERTR. HEE
ATEHEACENAGVHE, €
BEANOBREN, ZAHEANE
BEESM, ZR#L. BRERDN
B%,

FERFR

R @

BERNEER
EXASOHEEA
BEFBERINEE

WSE AR

W270° HERE

B RIPREGATINEEEZE

BT EERPREEK
WEFHEIERMF TR NE
BEA[E
BRIEZ&EWIEREIEIT
B ANERE. XE
BEZHRIPXE
BRIPREEEERE




13391963012
BASH
S LMS100= i &
SEE(RKE/10%K 5 &) 20m/18m
HiEfE Max: 270° AINERZESH R IFE
RESHE 0.25/0.5° Wi
HEmE 25/50HZ
Nie) Rz B 8] 40ms/20ms
DRE/RGIRE 10mm/typ.+30mm
Bt —RERK 41 5h £ 9054 K
HEEO RS 232/Ethernent/CAN
AR 8mm
FXE2H H 3*PNP;typ.+24VDC
AP ER 1R(ANR R )
TiEBE 10.8V~30VDC
THRE/MEERE 0...50°C /-30°~70C
B ir & % IP65
SN R~F(W*H*D) 102*152*105mm?
BEE 1.1Kg
;4

L

SOPAS Engineering# ¥4

Q01970392818 s I C K



13391963012 Q01970392818 s I C K

R
All dimensions in mm
152
115.7
79.3
3
mm n
M5x7.5 |M5x0.3
| 8 0.31

10.5 0.41
15 0.59
19 0.75

,,,,,,,,, 23.8 0.94
49 1.93
73 2.87
79.3 3.12
94 3.7
105 413
115.7 4.56
116 457

""""" 152 5.98
200 7.87

79.3

116

23.8

Max. 200
/v
/‘ﬁ‘i




Q01970392818 s I C K

13391963012
iTHIEE
il R=s TS P miEiR
LMS100-0000 1041113 =R FHHLLMS100—0000
LMS120-0000 1044321 =R AT ULMS120—0000
2034324 REFIA, (B ERZE)
2034325 REFTIIB(EDREER LHIEFE L AMNERGIFE)
2039302 RIEFZ2(EFIAS 1B, E 2 #EE A1)
2039303 RAEZRI(ERE2 EZNEAT)
2046459 190° RSP E
2046458 27T0° RSP E
2046025 £ I190°. 270° R HIPSE 4
2046989 E 2 2190°, 270° K S B iH BB 4
6034415 5K LA ME4LMS100 BIPC.—iHM12x4, —iERJ45
6030928 10K L K F B2 Z5LMS100F|PC. —i%M12x4, —iERJ45
6036158 20 LA & M B2 45LMS100F|PC. — #M12x4,— i%RJ45
6020756 AR RBENFHFEE



13391963012 Q01970392818 s I C K

LMS111 iE R R 578

LMS111& 5| 2SICKi#fE i iy — = & E, REEMEENRIFRE, B
ER, 2%, TERTEIIKIE AURBRIFNEE, BEEEM
PriE. MERRFHHAFEEIE. B EFE) LMSHMIUIZEEBHKI)
LMS1ME AR EMEEEL—#, g, RMBE, FERREEPER
RARAEH L — BB ITHEE, HREMLE, EEIBFE/ER
MmN, BEMATEHFNS MEFMEIEVNENTERR.
EEeNEAR (FmARERE) , & EXERAFAEORSHE, ERE
BLMS11BEN {5 £ B & IR 85 T b &k FEIGE, SELABRFRFER
BENE. LMS111H) = B 4S & %4 - IR, HEEMEREN,
PETRIB SR, BRREDRE = e ADERSRE.
HMEBERMME, RIEEEATR
o, KMRSER (270° MRAWBAE),
RENXEEEZ (JUREBENIFE

FEHR BEFP R &

BmAERN, EER B EERREEN

BRAZSERFEAR BEFHIIRMA TR, WE

BEBBHRINE BEAlE

MR AR BRIEEENEFIZEIT

W270° AME B AFRE, TF

BRPRETLEEEE BEZHRIPXE

MIP67RE P & R BRPRIGZE ERE

W R EB £ A N 2R BRIEAAAAFRINELHEX
5
BESEAMNE-30 BET
=H




13391963012
BAREH
2= LMS111 LMS151
SEE(RKE/10%KR 5 &) 20m/18m 50m/18m
R A E Max: 270° ,AJ L EIZESHHiFE
AESHE 0.25° /0.5° TTiA
E=EipIES 25/50HZ
i) Rz Bt (8] 40ms/20ms
PRE/RFIRE 10mm/typ.+30mm
A ZRERK £1 51 J9054H %
HiEEZO RS 232/Ethernet/CAN
BB R T 8mm
FxamY 2*Relay,1*PNP
BN ER 1R(NB R )
TIEBE 10.8V~30VDC
THERE/MFEE —30°~50°C/—30°~70C
Frin&E 4% P67
=it HEHEN60068-2-6(1995-04)
1 & Wik 15g,11ms/10g,16ms
EMA % #&EN61000-6-2(2005-08),EN61000-6-3(2007-01)
S R~H(W*H*D) 102%152*105mm?
=2 1.1Kg
Fiit 4k
1 SOPAS Engineering®# {4

Q01970392818 s I C K



R4E 13391963012 Q01970392818 s I C K

Al dimensions in mm

3 — 1
H mm n
: M5x7.5 |M5x0.3
10 0.39
105  |0.41
15 0.59
238  |0.94
49 1.93
73 2.87
793 [3.12
94 37
OIS ° 105 413
e 115.7  |4.56
2 // 116 457
% 152 5.98
! 3 @L /// 200 7.87
79.3 10
116
23[.8
B
5l o) \ 3
®® & '
g H
é L |
Min. 15
%




13391963012 Q001970392818 s I C

iTHIEE
= IT&=S 7= m i
LMS111-10100 1041114 = SMEI R ULMS111-10100
LMS151-10100 1047607 = SN R R {ULMS151-10100
2034324 REFTFIAE ERE)
2034325 RREFTIB(EMLEAEE ERERE L, TUERIPE)
2039302 R F LB (EZASIBE Z # AT )
2039303 REFLI(EE2EZNEDTRE)
2046459 190° XSHIFE
2046458 270° RSFHIPE
2046025 TE190° . 270° KB BE M
2046989 R R E190° « 270° KSFHIFER 4
6034415 53 L KRB 4LMS1008IPC, —i%M12X4, —ikRJ45
6030928 10K A K B2 25LMS1008|PC, —iM12X4, —i%RJ45
6036158 20K L KM B 4LMS1008IPC, —i%M12X4, —ikRJ45
6036159 SRHEREAEL, —iwM12X5, —imFFL
6036160 10K FEEEY, —HmM12X5, —iwmFF£&
6036161 20KFERHELS, —imM12X5, —im P4k
6036155 5XKI/OF 45, —i%M12X8, —ikF &
6036156 10K1/0B 45, —iEM12X8, —ikF 4
6036157 20KI1/OFE 45, —imM12X8, —imFF&k
6036153 55KRS2328 45, —iwM12X8, —ikFF4k
6028420 105KRS232FE 4, —iM12X8, —ifFF4&
6036154 20%%RS232M 45, —IwM12X8, —imF £
6020756 AN RN FHFIRE
6022427 24VDC/2.5AH &
6010362 24VDC/AR B
6010875 24VDC/10AR &

-

., &

ok B o
; £

\ x 5 .
.--1.-

ws

o=




